
© UPLIFT Desk • 800-349-3839 • info@upliftdesk.com • upliftdesk.com

Panel brackets
(qty 2)

M5x12 machine screw
(qty 4)

Lock washer
(qty 4)

Package Contents

Power & Data Rail: Privacy Panel Brackets
SKU: PDC005-PRV

If assembling at the same time as the Power & Data Rail

Step 1
Place rail cover on top of rail assembly,  and connect the Cov-
er to the Rail using two M5x6 machine screws (provided with 
Power & Data Rail) in the center holes on either side. Hand 
tighten for a few turns - do not fully tighten yet.

Step 2
Place one Panel bracket on each end of the rail cover oriented 
as shown. Connect Panel bracket to the Cover and the Rail us-
ing two M5x12 machine screws and two Lock washers on either 
side. Hand tighten for a few turns - do not fully tighten yet. 

Repeat on the other side with the second Panel bracket.

Once all screws are started, tighten completely using the 3mm 
Allen wrench provided with the Power & Data Rail.

Step 3
Slide Privacy panel into both Panel brackets and ensure that it 
is centered on the rail.

M3 X 8MM PHILLI
PS HEAD SCREW

M3 NYLOCK NUT

M8 FLANG NUT

M8 X 12MM SOCKETHEAD CAP SCREW

Acoustic Privacy Panels

To be used with...



© UPLIFT Desk • 800-349-3839 • info@upliftdesk.com • upliftdesk.com

Copyright Notice: These instructions are a component of this accessory. These instructions are part of the scope of delivery, even if the item is resold. These instructions are also available on the UPLIFT Desk website: uplift-
desk.com. Excerpts or copies may not be forwarded to third parties or used in any other published form without the prior written consent of UPLIFT Desk. These instructions are subject to United States copyright law.©

CAUTION: Read all instructions before assembly. Failure to assemble or operate properly may 
result in damage or personal injury. Retain manual for future reference.

CAUTIONS & WARNINGS!

!

AI-PDC005-PRV-2.090.014.01.1106vA

If assembling after the Power & Data Rail is already fully assembled

Step 1
Remove two M5x6 machine screws (provided with Power & 
Data Rail) from each end of the Rail cover with the provided 
3mm Allen wrench.

Step 2
Place one Panel bracket on each end of the rail cover oriented 
as shown. Connect Panel bracket to the Cover and the Rail us-
ing two M5x12 machine screws and two Lock washers on either 
side. Hand tighten for a few turns - do not fully tighten yet. 

Repeat on the other side with the second Panel bracket.

Once all screws are started, tighten completely using the 3mm 
Allen wrench provided with the Power & Data Rail.

Step 3
Slide Privacy panel into both Panel brackets and ensure that it 
is centered on the rail.


